1. aaadadl St oLy pole Liygllasy 2 Sl

vn:n\/z 9 u, = f o e () (i) el 0 1 syl

tim un=% Lo iyl Jleails (ms
lim v, =400 : Ol cayyad Jleatwls (o 2

N> +00

;\.3.“.'2." &Lgl::l! f;\,)\.@.i dd> 2!'&“_).43

d :M 9 c :M 9 b =2007"-2008" a":(gJ +(£J

! 2 43" 5"+ 3 2

unzn—sin(ns) 9 f, (2jnsm(7”) 9 e—1+2+4+£+ +2n

3 9 27 3"
x =1424+3+..+n w =n" V= 7 A
2 9 7 9 . ms—n)

1 1 1
nelN" J&3 u, =1+— DAl a3 gy
2B

VneIN Jn+

1
>Jn+l 0l o
Vn+1 (
VnelN' u, >~n ol i (2

lim u, : s> (3

N +0o

1 1
nelN" J&3 u, +.ot ALl ias 14 (ayaed
\/n +1 \/n2+2 \Nn® +n

U, 9 u, 9 U, el (1

* n n i
VneIN <u, < Ol 2
n’+n Nn® +1
lim u, : s3d> (3
nelN" J<) u = + ! + +;-M\::l\;u,_\-5' 3
" 1x2 2x3 7 oax(n+1l) T ) PR U
. 1 1 1 :
kelN (<1 =———— 0l a1
Kk+1) k k+1 O
VnelIN™ u, =1- Lo o 2
n+1

lim u, : sd> (3

n>+0

neIN" Soo u, = E(ﬂ)+E(27r)+E2(37r)+...+E(n7r) U oy sue : 6 (paped
n






